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ENGLISH VERSION

Instructions : (1) Write any four questions out of eight.
(2) Marks are shown on the right.

1 (a) Explain : Types of Operation Research. 17.5
(b) Operation Research is covered in a very wide sense but
explain in detail what are the limitations in 1its
practice.

2 A manufacturer has two machines A and B. It makes 17.5

two things P and Q on these two machines. A machine has
to be used for 3 hours and B machine for 6 hours to make
each P thing. It takes 6 hours for machine A and 5 hours
for machine B to make each Q item. Profit for each P item
1s .4 and profit for each Q item 1is .5. So how much P and
Q items should be produced to maximize profits? Each
machine cannot be used for more than 2,100 hours. Get
proper solution using L.P.P.

3 Using Simplex Method solve following L.P.P 17.5
Maximize : Z=4X +5Y

Constraints :

Tx+ 5y <35
x+2y<6
x,y=20

4 (a) A small industrial unit knows from their past 17.5
experience the production cost per unit .50 and the sale
price 1s .60 Of the units not sold during the week,
disposed at the price of 40. The distribution table of
the unit of sale is as follows :

Weekly sales (inunits) [ 4 | 5 | 6 | 7
Number of weeks 10120 |40 | 30

Deciding how many units an industrial unit should

produce per week

(1) EMV

(2) Obtain by EOL and prove that EOL * = EVPI
(b) Explain the "Decision Tree" in terms of decision theory.
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5 (a) Explain the following terms in context with 17.5
Game theory with a suitable example :
(1) Principle of Dominance
(2) Strategy
(b) Solve the following game by using principle of

dominance.
Player — B
I 1T I
I 4 6 3
Player—AIl -3 -3 4
m 2 -3 4
6 (a) State the difference between PERT and CPM. 17.5

(b) Design a trap for a plan based on the following tasks
mvolved in a plan and the days given for that task.
Also find the earliest time to start an activity (EST),
the earliest time to finish an activity (EFT), the last
time to start an activity (LST) and the last time to
finish an activity (LFT). Also decide an Critical Path.

Act 1-212-312-4(3-5|3-6(4-6|4-7|5-8[6-8|7-8
Time (Days) | 2 3 5 4 1 6 2 8 7 4

7 (a) Explain : Determining EOQ. 17.5
(b) Explain : The ABC analysis technique of Inventory
control.
8 (a) Explain: Uses of Linear planning. 17.5

(b) Patel & Patel Ltd. uses EOQ logic to determine the
order quantity for its various components and 1is
planning its orders. The Annual consumption is 80,000
units, Cost to place one order is Rs. 1,200, Cost per
unit is Rs. 50 and carrying cost is 6% of unit cost.
Find EOQ, No. of order per year, Ordering Cost and
Carrying Cost and Total Cost of Inventory.
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